Important:
Option @

/77

iV

-
L

1. It'srecommended to have two people for the installation, this will significantly improve your efficiency.

2. Before you begin: lay out all of the parts on a non-abrasive surface to identify the number tags in the
manual and count before assembly. Please use the screws correctly to avoid popping the desk panel.

3. For a smooth assembly process, we suggest you keep a lite tightness for all the screws during
assembly. After the whole desk is assembled, firmly tighten all the screws.

Parts list

x1 X2

X2 x1 X2 x1 x1
@ @) ©) @ ® ® @
)))))))))))))))))))) @))))))))))))))
M6x50 Speclahzed M6x35 Specialized M6x25 M6x12 @8x15 @6x50
x2 M6x40 x4 X8 M6x30 X4 x2 x4 x2 X8

W—@Q%

@3.5x15 M8x40  @25xM6x15
X2 x4 X6 x4 xl

/A'Note: The desktop can only be fixed with screws @ and @) with different colors !
Please use the correct screws for assembling.

Thank you for choosing our product.

Please share your product experience if you are happy with it. Feel free to contact us
in case of any problem regarding assembling or the product itself.
Your satisfaction is our highest pursuit.




Assembly Instruction:

®
® \@
these 4 holes facing the e this side
same side lis< N > w/4 holes
®

1 this side
w/4 holes

6

this side
.| w/4 holes

this'side
w/4 holes

Push

Notice: keep all the screws 50%
tightness first , then Push the
A&B desktop, make sure no
gap , then tighten the screws

&




Assembly Instruction:

®

~_

.. ® S
o e
N <
@D\\ |
b >4
[~
these 4 holes facing thée } ®
this side same side ‘ \
w/4 holes @'

this side
w/4 holes

©)

this side [©)]
w/4 holes

Push

Notice: keep all the screws
50% tightness first , then Push
the A&B desktop, make sure
no gap, then tighten the
screws

. o 1¢




	图纸和视图
	模型

	小转角置物桌
	图纸和视图
	模型


	小转角置物桌
	图纸和视图
	模型





